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Part 1

A.

Listen to the following passage and then decide whether the statements below are
true or false. After hearing a short passage, blacken the letter “A” on the Machine-
scoring ANSWER SHEET if you think the statement is true, or the letter “B” if you
think it is false. There are 10 statements in this part of the test, 1 point for each
statement. You will hear the passage only once. At.the end of the recording, you will
have 2 minutes to finish this part.

The black people did not vote in America in 1941.

When Henry turned twenty-one, he drove to the courthouse to vote.

The registrar had decided not to enter the black people’s names in the voting book.

In order to register, people had to understand the Constitution of the United States.
According to the passage, only literate people could vote.

Henry was the first black person to vote in his county.

Henry’s father and five other black people were also registered to vote that night.

The next day the clerk refused to register the people Henry brought in because they were
not able to read.

Not all the white people coming to register could read.

10. Henry finally managed to get all the black people in his county registered.



B.

12.

13.

14.

15.

11.

L KESH N BRI

Listen to the following short statements and then choose one of the answers that best
fits the meaning of each statement by blackening the corresponding letter on the Ma-
chine-scoring ANSWER SHEET. There are 10 questions in this part of the test, 1 point
for each question. You will hear each statement only once.

What does the speaker mean?

A. He usually starts working without breakfast.
B. He likes to eat a lot for breakfast.

C. He doesn’t eat a lot for breakfast.

D. He prefers something else in the morning to a big breakfast.

What is the speaker’s problem?

A. He knows nothing about engineering.

B. He wants to postpone the presentation.

C. He never spoke to high school students before.
D. He is not yet ready for the presentation.

Why will the speaker make the call?

A. Because he will let the other person know about the assignment.
B. Because he needs to talk to somebody.

C. Because he can’t talk about the assignment now.

D. Because he wants to know about the assignment.

Which of the following statements is true about Sara?
A. She rarely makes mistakes.

B. She makes known what she thinks.

C. She has many original ideas.

D. She doesn’t like to express her opinions.

What did Dave do?

A. He lost his temper for no reason at all.
B. He left without saying a word.

C. He suddenly slipped and fell.

D. He suddenly fainted.
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16. According to the speaker, why did he fail to catch the point?
A. Because he was away for a while.
B. Because he simply couldn’t understand.
C. Because he was thinking about something else.
D. Because he fell asleep.

17. What will the speaker probably do?
A. He will refuse to work overtime.
B. He will quit this job.
C. He will probably say yes to his boss and work overtime.
D. He will have to give up his studies.

18. Which of the following is true about the picture?
A. It doesn’t cost much.
B. It would not be good enough for “my”” room.
C. It costs about 30 dollars.
D. It is very famous.

19. What does the speaker think of Kevin’s haircut?
A. He doesn’t like Kevin’s haircut.
B. Kevin often gets strange haircuts.
C. He wants a haircut like Kevin’s.
D. Kevin’s haircut looks good.

20. What does the speaker say about the international festival?
A. It won’t be held.
B. It will be delayed.
C. The proposal is groundless.
D. It will definitely be held outdoors.

Part 11

Listen to the following passages and then choose the best answer to each question by
blackening the corresponding letter on the Machine-scoring ANSWER SHEET. You may
need to scribble a few notes to answer the questions. There are 3 passages in this part, each

»




RE=HNEZAABRE

with 5 questions. And each question carries 2 points. You will hear each passage only once.

At the end of the recording of each passage, you will have 2 minutes to finish the questions.

Passage One

21.

22.

23.

24.

25.

10

What is this talk mainly about?

A. How historical events affected an art movement.

B. How artists can influence economic conditions.

C. Why a certain art movement failed to become popular.
D. How valuable paintings were lost during wartime.

What does the speaker say about the artists in the United States during the Great Depression?
A. Many artists lost faith in the value of art.

B. Many artists were forced to take jobs in other fields.

C. Many artists moved away from large cities.

D. Many artists in the United States moved to other countries.

What kind of scene might be shown in a typical regionalist painting?
A. People working in a large factory.

B. People walking on crowded city streets.

C. An everyday activity in a small town.

D. A well-known historical event.

Why did regionalism become so popular in the U.S. during the Great Depression?
A. Because the paintings sold very well.

B. Because it helped strengthen people’s faith in their country.

C. Because people liked to live in the country at that time.

D. Because it helped recover the economy.

According to the speaker, what happened in the U.S. in the 1940s around the time of the
Second World War that affected the popularity of the regionalist art?

A. The populations of small towns increased rapidly.

B. Art critics in cities began to take notice of regionalism.

C. Some regionalist painters began a new art movement.

D. Society became more internationally focused.
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Passage Two

26.

217.

28.

29.

30.

According to the passage, how many universities in the United States took part in the study?
A. Four.

B. Three.

C. Five.

D. Six.

Why does a lack of sleep cause people to gain weight?

A. Because people burn fewer calories when they are awake.

B. Because people feel hungry when they lack sleep.

C. Because their hormones stay unchanged.

D. Because people don’t exercise when they don’t have enough sleep.

According to the passage, what is NOT true about the first study?
A. More than 1,000 people took part in the study.

B. People who slept less had higher blood levels of ghrelin.

C. People who slept more had higher blood levels of leptin.

D. The amount of exercise can influence the result of the study.

What is the best amount of sleep for weight control?
A. 8 hours a night.

B. 7.7 hours a night.

C. 7 hours a night.

D. 9 hours a night.

Two groups of people are compared in the third study. They are people
A. with less than 5 hours of sleep a night and with 7 to 9 hours of sleep

B. who slept 4 hours a night and who slept 4 hours for 2 nights
C. with less than 4 hours of sleep a night and with 7 to 9 hours of sleep
D. with less than 5 hours of sleep a night and with 8 hours of sleep

Passage Three

31.

How much was the net income at Sony Ericsson in 20047
A. 55 million euros.
B. 43 million euros.
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